
 

 

 

Multiplication 
Instructions for use: Fill out using Acrobat Reader then save to your PC once completed. 

Using your preferred multiplication method, work out the following (use a pencil and paper for your 

workings): 

1) 57 × 6 = 

 

 

2) 69 × 7 = 

 

 

3) 15.8 × 10 = 

 

 

4) 972 × 12 = 

 

 

5) 9.42 × 1000 = 

 

 

6) Jon is planning a party for 100 people. He plans to spend £4.50 on food for each person. How much will he 

spend in total? 

£ 

 

7) Rudi needs to send 10 parcels. It costs £3.35 to send each parcel. What will be the total costs of sending 

the parcels? 

£ 

 

8) Sienna wants to buy 1,000 tiles. Each tile costs £0.71. What will be the total cost for all the tiles?  

£ 
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